
SAP ABAP table COMM_PR_UNIT {Product Unit of Measurement}

COMM_PR_UNIT

CLIENT [CLNT (3)]

PRODUCT_GUID [RAW (16)]

UNIT [UNIT (3)]

WEIGHT_UNIT [UNIT (3)]

VOLUME_UNIT [UNIT (3)]

UNIT_OF_DIM [UNIT (3)]

COMM_PRODUCT

CLIENT [CLNT (3)]

PRODUCT_GUID [RAW (16)]

 COMM_PR_UNIT-PRODUCT_GUID = COMM_PRODUCT-CLIENT 
0..N

0..N

T000

MANDT [CLNT (3)]
 COMM_PR_UNIT-CLIENT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 COMM_PR_UNIT-UNIT = T006-MSEHI 

0..N

0..N
 COMM_PR_UNIT-UNIT_OF_DIM = T006-MSEHI 

0..N

0..N

 COMM_PR_UNIT-VOLUME_UNIT = T006-MSEHI 
0..N0..N

 COMM_PR_UNIT-WEIGHT_UNIT = T006-MSEHI 0..N0..N


